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Topic Break Down

Topic No. of Questions
Topic 1, The Linux Community and a Career in Open Source |13
Topic 2, Finding Your Way on a Linux System 16
Topic 3, The Power of the Command Line 20
Topic 4, The Linux Operating System 16
Topic 5, Security and File Permissions 15
Total 80
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QUESTION NO: 1

Which of the following is a requirement of the GPL license but not the BSD license?

A. Users who modify and distribute the software under the GPL license, must make the modifications they made, available to
the recipients under the same license.

B. The GPL license forbids the removal of copyright and license notices from source code files that are distributed.

C. The GPL license contains a disclaimer of warranty requiring users not to hold the software authors liable for any
damages.

D. The GPL license requires that any legal disputes be settled with the mediation of the Free Software Foundation.

ANSWER: A

QUESTION NO: 2

Which is a suitable command to find the next appearance of the word hidden in a man page being viewed from the
command line?

A. find hidden
B. /? hidden
C. CTRL-F hidden

D. /hidden

ANSWER: D

QUESTION NO: 3

What permissions are set on a file with the command chmod 654 file.txt?
A. drw-r-xr--

. d--wxr-x--

. ==WXT-X--X

.« -TWXrw---X

m O O W

. “TW-r-Xr—

ANSWER: E
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QUESTION NO: 4

Which of the following answers are true for cloud computing? (Choose TWO correct answers.)

A. Cloud Computing provides new tools to manage IT resources.

B. From the business perspective, Cloud Computing means outsourcing or centralization of IT operations.
C. Cloud Computing is the opposite of green IT; i.e. the use of fossil, non-regenerative energy for computing.

D. Cloud Computing implies sharing all information with everyone else in 'the cloud'.

ANSWER: AB

QUESTION NO: 5 - (FILL BLANK)

What is the usual absolute path of the personal directory for the user foo?

ANSWER: /home/foo, /home/foo/

QUESTION NO: 6

Which function does a shell program serve?

A. It provides a graphical environment.

B. It is responsible for establishing a connection to another computer.
C. It receives user commands and executes them.

D. It is responsible for logging a user into the system.

ANSWER: C

QUESTION NO: 7

Which of the following are correct commands for changing the current directory to the user's home? (Choose TWO answers)
A. cd /home

.cd~

.cd ..

. cd

m O O W

.cd/
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ANSWER: B D

QUESTION NO: 8

Which commands provide help for a specific Linux command? (Choose TWO correct answers.)
A. info

B. man

C. helpme

D. ask

E. whatdoes

ANSWER: AB

QUESTION NO: 9

Which of the following commands can be used to create a file?
A. touch

B. build

C. nico

D. create

E. mkfile

ANSWER: A

QUESTION NO: 10 - (FILL BLANK)

What two character sequence is present at the beginning of an interpreted script? (Please specify the TWO correct
characters only)

ANSWER: #!

DumpsQueen - Pass Your Next Certification Exam Fast!


https://dumpsqueen.com/

